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In recent years, mathematical models have been proposed to explain the
efficient information processing performed by the human brain. The Bayesian attractor model, which
imitates the top-down decision-making process by the brain using Bayesian estimation, is one such
model. In this research project, 1 proposed methods to aggregate and integrate the decision-making
information from multiple nodes when they make decisions according to the Bayesian attractor model.
This integrated decision-making model is based on the Bayesian causal inference. This
decision-making model integrates the posterior probability density, which expresses which of
multiple alternatives is most plausible, based on the reliability of the observed values, and we
confirmed that it can make adaptive decisions to noise in the observed values.
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bayesian-attractor-model-python-cpp-
https://github.com/d-kominami/bayesian-attractor-model-python-cpp-




